ggobIropoooooobod gobg —

ob: 00000 00 000
00: oo:

500000,00000000000000000000.
(ex. 1112070000, 2,7, 12,17,22,270000000. )

.ot i, jp, kbbb ooog, bbb oooog
(0D0ODOOoOO0OO)O,00000D0D000000000O0, 000000000
goooob. g, gobobbooooon.

2.00 4i+j+k —j—k, 3i+9j+4k, 4(—i+j+k) 000000000000
oooo.

. 000gooooboboboddaa, b, e, d00D00,000obooooooon

Oo0oO0oooooo.o0ooo,[ |ooooooogoooo.

é[a —db-dec—d,0000 %{[abc] _ [abd] + |acd)] — [bcd]}

4. 00000000b000b0dd e, b, c00000ODO0ODOD. O0OQDDOO
goddddogoogdo. bbb, 0ddtd e, b000000O0O0O0OOOOOO
goo.

5.e000000D0,A0000000DODODOODO,0DDOODODO0ODOODOO.

A=(A-eletex(Axe)

D

LOgbogooooon.
A-{Bx(CxD)}=(AxB)-(CxD)
7. 000000000.000,| |oDobooooooooog,.

(A x B) x (C x D) = [ABD|C - [ABC|D = [ACD|B - [BCD]A
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10.

11.

12.

13.

14.

.0oo0o000o0ooo.o0o,| jooooooooooon.

[axbcxd,ex f] = [abe][fcd] — [abf]lecd]
= |abd][cef] — [abc|[def]
= |[cda]lbef] — [cdb][aef]

gouorbogob.obd,rdtdbd, e 00000O0OOO.

r+a
r2 4+ a?

gooo:roboodg.obb,r-0tdb,eddgooobon.

rXxXa

rT-a
n000,eb00000000000,r= (cosnt)a+ (sinnt)b0O00, 00
0o0O000o0O00O0o0oO.

dr
@—%nr =0

n000,aeb00000000000, 7= (cosnt)a+ (sinnt)b000, 00
0000000000000.

d
rxd—z = naxb

nO000,e,b000000000O00O, r = (cosnt)a+ (sinnt)b0O 0, 00
O000000oooo0o0o0. 000, |jooooooooooon.
[rd_"“dQ_T] _ 0
dt dt?
nd00,e, bl 0000000000, r=e"a+e™b000, 00000
gooooboogod.
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16.

17.

18.

19.

20.

21.

22.

23.

0000000 »@)0000. 000, r(0)=0, dr/dt(0)=0,000 a,b0
oooooooo.

goouoguogo.
(Awwazémﬂ—AxWxA)
abcO000O00O,r000000D0OO0O0OOO,0000000.
V{@a-r)b-r)(c-r)} = (b-r)(c-T)a+(c-r)(a-r)b+ (a-7)(b-T)c

u(z,y, 2), v(r,y,2) 0000, flu,v) =0000,VuxVo=00000000
ooo.

u(z,y,2), v(z,y,2), wx,y,z) 0000, flu,v,w) =0000, [VuVoVw| =0
Ooo00o0oOooooo.ooo,| |0bo0oo00oooooo.

uw(zr,y,2) 0000 f(u) DODO0O0O,0000000.
f(u)Vu = V/f(u)du

0000000.000,[ |000000000000. ((a@-V), (b-V)0O0O
000000000,v00000)

a-(b-Vv—b-(a-V)v = (bxec) -rotv = [ba rotv]
v=VelUUUO,000ouogoooooogn.
a-(b-V)v = b-(a-V)v
clU000OOOUOOOOOLO,D0O0DOOLOOOOOOO.

a-(b-V)v = b-V(a-v)
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25.

26.

27.

28.

29.

30.

Lgbooogoo.

rot rot rotA = —VZ’rotA

divF=0000,0000000.

rot rot rot rotF = V?’V’F

ooosSooooooooooyv, bbb nOoobo,0oog
guoooboogooo.

/(Vgpr)-ndS = —/Vgp-rotAdV
s v

Oo00 sSobooooonoooo v, bbb n0Ooono,0oog

Jdoddooooooon.
1 2
— | rdV = — | r*ndS
v 2 Js

0000000,0000000.
j{gpw.dr = —fww-dr

A(0,1,0)00 B(2,0,00000000000000 f=2>-9>000000
oooao.

)00 z+2y=2

(ii) AD, DB O OO, D(1, 1, 0)

(iii) AO,OBOO0O,0000

O0z=2-22—¢*(x>0,y>0)00000000S00000,00 80
000 f=2?+4?0000000000.
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